
6
12
18
24
30
36
42
48
54
60

68x 1 =
68x 2=
68x 3=
68x 4=
68x 5=
68x 6=
68x 7=
68x 8=

SIMPLEST WAY TO REMEMBER / WRITE
MULTIPLICATION TABLE OF 68

68x 1 =
68x 2=
68x 3=
68x 4=
68x 5=
68x 6=
68x 7=
68x 8=

Step 1 : Write 06 Table Step 2 : Write 08 Table

    8
1   6
2  4
3  2
4  0
4  8
5  6
6  4
7  2
8  0

Step 3 : Table is Ready

68
136

204
272
340
408
476
544
612

680
68x 9=
68x10=

68x 9=
68x10=

68x 1 =
68x 2=
68x 3=
68x 4=
68x 5=
68x 6=
68x 7=
68x 8=
68x 9=
68x10=

6
12
18
24
30
36
42
48
54
60
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